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Session structure

= Description of trends

» medium term (20 years)
— market sector
—non-farm market sector

» short term (5 years)
— market sector
— non-farm market sector

» industry (that comprise the market sector)
— 20 year period
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Non-farm market sector
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Market sector
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Non-farm market sector
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Agriculture
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Mining
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Manufacturing
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Electricity, gas & water
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Construction
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Wholesale trade
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Retail trade
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Accommodation, cafes & restaurants
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Transport & storage

160 -

140

120

100 +

/'—'/
80 - /—-——’

60 ™ — —

40

Multifactor productivity == = Labour productivity

20

0 T T T T T T 1
1985-86 1988-89 1991-92 1994-95 1997-98 2000-01 2003-04 2006-07




180

Communication services
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Cultural & recreational services
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